) \Vhat three elements are present in all
15' ,1lc()h()ls.>

a

What are three uses for alcoholss

(b)

- dersta“‘"“g Key ldeas

How many times more basic is 3 solution of
S compared to a solution of pH 93
What is the COl()E”' of ‘thc indicator after it jg
,dded to cach of the following solutions?
;Assumc the colour of the solution being
rested does not mask the colour of the
indicator.) Refer to the indicator chart din
Figure 5.0 on page 294
(a) lemon juice in the presence of indigo
carmine indicator

16.

17.

(b) milk in methyl red indicator

(c) bleach in phenolphthalein

(d) tap water in phenolphthalein

(¢) egg white in litmus

18. Change the following names to the names
used when the acid is aqueous.
(a) hydrogen fluoride
(b) hydrogen perchlorate
(¢) hydrogen sulfate
(d) hydrogen chloride

19. Complete and balance the following
neutralization reactions. Then, write the

names of all the reactants and all the produe

in each chemical reaction.

a) HNO; + Al(OH), =

b) HF + KOH =

¢) H;PO, + Ca(OH), >

d) CH,COOH + NaOH =
¢) H,SO, + NaOH =
Complete and balance the following che
reactions between an acid and a metal.
(1) HBr + Mg >
(b) H,80, + Al >
(c) HI + Ca =

(d)

( A

(
(
(
(
(

2.

d) HClO + /n >

¢) H;PO, + Na >
State whether each of the following is an
2 base, a salt, or none of these. "

A,

(a) HCl(aq) (d) MgCl,
) KoH (¢) K;PO, -
) Sr(OH), (f) H,S08

-

22;

23

Classify cach of the following compounds as

organic or inorganic by examining their

formulas.

(2) CH,OH (¢) FeBr,
(b) Mg(HC,0,), (f) CH,
(c) SiC (g) NH;
(d) Na,co, (h) CO

Draw structural diagrams for these organic
compounds.

(a) CH, (bCH GE CL

Applying Your Understanding

24. Some compounds, such as ammonium

acetate, can fall into more than one category
at a time.

! 0
Q
H— N —H € = (@
I 0/
H

Ammonium acetate is made of positive
ammonium ions and negative acetate ions,
consistent with the formula of a salt. The

- acetate ion contains carbon atoms, making it
~organic. The ammonium ion can react with



